2 _
sinA:%/_ Q1 A ZH2e ABC oA cos A B
tan A 9 E& 717 FHHEY (07 < A <
90°)

2
@ cosAzg, tanA =1 @) COSAZTV_, tan A =2
® cosA =23, tanA =1 @ cosA =33, tanA:%
® cosA = \/5, tanA =1

9|



2. sinA:% A ff, cosA + tanA ] FH2? (T, 0° <A <90°)

O]

12
@ +

23 31 39
@5 @5 04

Wl ot



3.

the 9 2ol £C = 90° < A7

ABC o4 AC ©] Zo]

@ 5sin40°

@ 5tand40°

£ ol A0

sin 40 °
2 5

® 5cos40°




4. the IUZE BT A 71279 G x 0 9 AE o S B o,
x+y 9 e T

@D 16 ® 31 ® 46 @ 61 B 91



o& & A2 gl

@ sin45° = cos 45°
@ sin40° > cos 20°

3 sin75° > cos 75°

S

—
R

Az &7

Mo
Py
filo
H
4
K
!
2

@ sin 85° > sin 25°

@ cos10° < cos 80°



| el AS H7)oflA B al=?

Zte sin cos tan

10° 0,1736 0.9848 0,1763
20° 0.3420 0.9397 0.3640
35° 0.5736 0.8192 0.7002
45° 0,7071 0,7071 1,0000

50° 0,7660 | 0,6428 1.1918
70° 0,9397 | 0.3420 2.7475

A 47hH 0] ghE A% WA Al 7hA) Lk Aok, A7 o)
=2

89° 0.9998 0.0175 57.2900
Y
H7]
@ sin20° = 0.9848 O cos45° =0.7071
© tanb50° = 0.6428 ® 2sin10° = 0.3420
1
@ 500s70°=0.8192 ® 3tan45° =3

OO0 ©00,6 006 ®oo 6,06



7.

THS 139 AABC o)A 27| 0] B2 H T AABC 9] S¢|2] Zol=

FoHH?
/10/
34°
A

2t sin cos tan

54° 0.8090 0.5878 1.3764

55° 0.8192 0.5736 1,4281

56° 0.8290 0.5592 1,.4826
D 5.592 @ 8.29 ® 13.882
@ 923.8892 ® 29107



che 27 o] WA B Aol7h 1 Q) AR A e F 53
A-?
y
1
0.77
0.70F === N ,
0.57F == femfoa <
0 040 0821
@ sin(x+y) =0.77 @ siny =0.82
® cosy = 0.82 @ cos(x+y) = 0.40

® tany = 0.70



9. 45°<A<90° ¥4 ™, \/(sinA—cosA)2— \/(sinA - cosA)? & It
3] shd?

D2v3 @ 3 ®2v2 @ 2 ® 0



10.

thg 97} 7o) LA 7 7kl AABC ©] B A o)A ¥ BC o
gl A0 & D 2 ok, D oA ¥ AC o] El 49 IS E
2} sttt AE = 4cm, CE = 6cm ©]X, /BAD = x, /CAD =y 4 o,
sinx + cosy ©] #t2?

@? @‘/51_0 @—2‘?
@% @2\/ﬁ



